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Special Right Triangles (Trigonometry emphasis)- Guided Lesson
Explanation:
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Explanation#1

As we know the value of:

Sin 0° = 0; sin 60° = V/3/2; tan 45° = 1
Sin 0° + sin 60° - tan 45° = 0 + V3/2 - 1
Sin 0° + sin 60° - tan 45° = -1.92

So, the answer is sin 0° + sin 60° - tan 45° = -1.92.

Explanation#2

As we know the value of:

Cot 30° = V/3; sec 60° = 2; cosec 30° = 2
Cot 30° + sec 60° + cosec 30° = V3 + 2 + 2
Cot 30° + sec 60° + cosec 30° = 5.73

So, the answer is cot 30° + sec 60° + cosec 30° = 5.73.

Explanation#3

Tan 60° = V3; sec 0° = 1; sin 30° = 1/2
Tan 60° -sec0° +sin30°=+vV3 -1+ 1/2
Tan 60° - sec 0° + sin 30° = 1.23

So, the answer is Tan 60° - sec 0° + sin 30° = 1.23.

1 Tons of Free Math Worksheets at: © www.mathworksheetsland.com




